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L= 1,000 1,000 0
1A 7§00 1,000 1,000 0
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4. 305971 AR 86,800 86,800 0
1. %37 7 86,800 86,800 0
1. g RkEgH 18,800 18,800 0
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2. BAFA UL 39,443 42,763 -3,320
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1. dnkpgn) 960 960 0
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2,031 4,956 4,956 0
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4. Rk S0 1,100 1,100 0| HNEFTY © 40,0009%13] = 40,000
A DI H] 0 -40,00090%13] = -40,000
5. HF 74 H] 2,550 1,050 1,500 | AF-8-3E4] 1 750,0009%23] = 1,500,000
4. [F1H =50 1,440 1,440 0
1. kg1 1,440 1,440 0
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W=
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3.[ZI(FA)E A (ZT
Jopetae) 12,480 12,480 0
1. 717 A 22 A1 714 12,480 12,480 0
FH] 7 234,705 246,563 -11,858
1.8t A) 2 1) 6% 234,705 246,563 -11,858
12l ToaLAATI= 63,122 63,122 0
1.471932 3,056 3,056 0
2. Aerra 21,600 21,600 0
3.7 T T 38,466 38,466 0
2. [N #E 8-S 55,748 55,616 132
1. Yduk=80) 55,748 55,616 132 1 132,000 %13] = 132,000
3. [N dnkag 80,042 92,032 -11,990
1. 71 7HA| 22 A1 71 1) 1,432 1,432 0
2. duk4=gH| 78,610 90,600 -11,990 | Al AR ZETS © -8,000,0009%13] = -8,000,000
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4. [ 2134238 4,000 4,000 0
1. uk8H| 4,000 4,000 0
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